
4 UNITS 9S, 98 Complete the second sentence so it means the same as the first, using the 
word in brackets. Use three or four words in your answer. 

o Maurice has gone on a run that lasts for ten kilometres. (kilometre) 

Maurice has gone on .~}~.~.~ .. ~ .... 
1 You' ll probably be able to find that CD in a shop that sells records. (record) 

You can probably find that CD in ........ .... ........... ........ ...... . 

2 When you write the cheque, don't forget the name of the person you are paying 

the money to. (of) 

Remember to write the name ..................................... on the cheque. 
3 I need an Internet connection that works very fast. (high) 

I need .............................. Internet connection. 
4 I think looking at things in shop windows is just as much fun as buying them. (shopping) 

I think .......................... ...... ........ .. .. as much fun as buying things. 

5 That factory began producing electric ca rs in 2004. (of) 

The .............................................. .. .. at that factory began in 2004. 
6 Because she works for herself, Linda doesn't need to go into the office every day. 

(employed) 

Linda doesn't need to go into the office every day because ........................................ . 
7 This tool is only suitable fo r people who use their left hand to do things. (can) 

Only ...................................................... ... use this tool. 
8 That machine was invented by somebody who comes from Hungary. (invented) 

A ............................ ....... , .... ................. machine. 

5 All UNITS Complete the blog using the words in brackets. You will need to add a suffix or 
prefix. or make a compound word. 

-~ 

Melinda's Blog for today 
Education isn't just for children! 
In recent years the govemmerJt has been (0) .. . C,r#4.W.M .. . (critic) for its treatment of adult 

(1) ....... (educate). It has poured money into the system, but the money has all 

gone into schools rather than colleges. The adult education system has been 

(2). ...... ......... . . .. . (organise) several times, but the result has been fewer colleges and 

klss cIldce. 

Many older people had a bad experience at school and want to have a secood chance. In the 

old days each town had its own adult education college which provided (3) .... .. ....... ... ...... .. .... .. 

(quality which is high) tead1ing and (4) ...... .... ... ... .... ... ... .. .. (price which is not high) courses. 
It was (5) .............................. (expense) for the government 10 provide this, but it made a big 

(6) .............................. (difjef) to people YIho had no qualifications. Because the courses were 

aimed at adults, even people who had (7) .... .. ... ... .. . .... . .. ..... ... (not like) leaming at school were 
able to enjoy the lessons. Many even took and passed (S) .............. (examine) which 

they had previously failed . Most of the courses were (9) ... ........... .. ... .. ... .. ... (didn't take all your 

time) or tOOk place in the evenings. I think it is a (10) ........ ...... .. .. ... ..... , . (nation) disgrace that 

we have aJlowed this crucial part of our education system to become so neglected. 
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